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SIAHAE 2024

Oll&FXb= 0 =0 At

AHF=E - HESIIZ

O =N (S &)

= 2 Al = Xl = A g
= = =] oH AT~ = & = INEE HECXIESNH s

8t A 140,639 124,087 16,552 | & p| 140,639 124,087 16,552
] 2 2 0 0 0|l 8 &t & At & 4 7,200 6.160 1,040
El ES 2 0 0 0|8 X & A & 4 0 0 0
Xt S 2 0 0 ojel =2 2 o 4 0 0 0
B ot 2"z % 3 0 0 |21 = & 0 0 0
e 2338 > 0 0 0] ol = 2 0 0 0
o X =2 & % 123,069 109,687 13,382 ol %l 2 133,439 117,927 15,512
ol = 2 0 0 Ot 2222 as 0 0 0
o I = o 17,570 14,400 CRYOI =R =N 0 0 0
o g % ¢ 0 0 |21 B XN & 0 0 0
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200 MIQl=¢ 5,570 2,400 3,170
210 J&EAN L= 5,570 2,400 3,170
216 Ol At¢ 5,570 2,400 3,170
216-01 S30=0Ik==L 5,570 2,400 3,170
OUIxI= Ol K== 5,570,000& = 5,570
700 ENMUASLUE AN 135,069 121,687 13,382
710 2 S 123,069 109,687 13,382
714 OIXIZ3l= 123,069 109,687 13,382
71401 HxlIZ=2= 123,069 109,687 13,382
OuxI3gal= 123,069,000& = 123,069
720 LHS 1 cH 12,000 12,000 0
72 K= 2RHA 12,000 12,000 0
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Hyg=X 7,200 6,160 1,040
HESIESX(SXHHESI|2) 7,200 6,160 1,040
HE=XHA K& 7,200 6,160 1,040
201 et23H| 7,200 5,200 2,000
01 ArR2t2iH] 7,200 7,200 5,200 2,000
OS&HEH AIRAIS 3,000,000& = 3,000
OoXl9deld d&d35 s 1,200,000& = 1,200
OThe CHAIHIERIR 2= 3,000,000& = 3,000
HRES(HHIt= 133,439 117,927 15,512
BEIE(LEEHSIIZ) 133,439 117,927 15,512
CESIN=NC(DN| 133,439 117,927 15,512
602 GIXI= 133,439 117,927 15,512
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OulIxl= 133,439,000& = 133,439
AN & & A 140,639 124,087 16,552
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20199 &= 3,739 0 0 0 0 0 3,739 0 6,143 6,143 0 0 0 0 0 N2,404
20209 &= 2,271 0 0 0 0 0 2,271 0 2,892 2,892 0 0 0 0 0 NB21
20219 & 103,044 100,000 0 0 0 0 3,019 25 3,782 3,782 0 0] 0 0 0 99,262
2022¢ &= 10,662 0 0 0 0 0 10,662 0 2,399 2,399 0 0 0 0 0 8,263
20239 & 14,726 0 0 0 0 0 14,726 0 6,160 6,160 0 0 0 0 0 8,566
20243 & 17,570 0 0 0 0 0 17,570 0 7,200 7,200 0 0 0 0 0 10,370
Al 412,525 280,000 0 0 0 0 132,500 25 79,086 79,086 0 0 0 0 0 333,439
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&= B | 200,000 200,000 200,000 0
SMIEEDIZ 200,000 200,000 200,000 0
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